2025 F EEEKRFEAZHR
FPREBERLEIRIAR—YHE] S5/c— (B -Fkig(BF a7 -fE(BF 7)) -EXHFHR(BET)

@i FEE
S8 5 e kil HEE
5 = i 5 % i
L% 0 0 0 0 0 0 -
X BARE 14 0 14 14 0 14 1.0
BAX 3 0 3 3 0 3 1.0
HaELt 24 0 24 24 0 24 1.0
et BRERIDVEE 13 2 15 13 2 15 1.0
REEUL 0 3 3 0 3 3 1.0




2025 F EEEKRFEAZHR
BE#BARHARARRRIEREZAR]-UNAXE ] [EE8HR] - (BEE#E]

O[E@EFNE) BEEF

HERFRE ABRR[ERZHE]
HE P il kil BEE
5 % H E: % H
1h# 1 0 1 1 0 1 1.0
X BA® 9 6 15 9 6 15 1.0
BAX 2 6 8 2 6 8 1.0
HafEut 8 5 13 7 5 12 1.1
@t BRI 11 5 16 10 5 15 1.1
RERUL 7 5 12 6 5 11 1.1

OEHREMHIEIRE RIER

[#3&11505F A ABRE[EBEFHE]
= e E&Z E3 BAE
*‘& R I 'HE | BE | BE | BE | 55 | BE
1hZ 80.0 80.0 - - - -
x EEX 128.0 80.0 150.0 150.0 126.0 66.0
BAX 123.0 80.0 150.0 150.0 66.0 66.0 ¥IFES &
HEEH 112.5 86.0 88.0 86.0 OERE B DB R[ER1008 ]+ (2ADFTHEDIKIRE x 10)
HaEL B bR/ B 1125 79.0 144.0 86.0 QERHB DB R[ER100%8]%x1. 5
e 120.0 79.0 135.0 135.0 O. QD55 B/ HEHIEICHE (150 =5 =)
O[/himxE] WHFEFEE
HERTZRE U g
ZEBE areE
2 ) PR
E2] % it 3 % it
1h# 0 0 0 0 0 0 -
X BAR 2 0 2 2 0 2 1.0
AAX 1 0 1 1 0 1 1.0
HEEi 0 0 0 0 0 0 -
HREL ERERIDE 0 1 1 0 1 1 1.0
RERL 0 0 0 0 0 0 -
OaEE(HEIRE RIER
[#8&115048H A
[F AT lJ\EﬁI
FER 28 TEE | BEE |
L% - -
x BAS 94.0 78.0
BAX 94.0 94.0 HIEAH*E
HEE - - OMimx[EER1008 ]+ (AN FEERED KR x 10)
@ BRI B 1275 1275 @/ i [EEm100m] % 1. 5
e - - D. Q5B /B EEHIEICHE (15055 =)




2025 F EEEKRFEAZHR

O[EBHH] mEEF

HERALRE EEER
4 - — S e
X AR (EiE) 4 3 7 3 3 6 1.2
BEBEHIE]IRS FIER EEER
S [ i) Eem | &ES
[ X | Bxx@E®) | 1873 | 1023
O[BIEEHE] HEESE
HERTZRE BEEHR
2BRE BE
] 2R MEE
2 % it 2 % &t
L% 5 0 5 5 0 5 1.0
X =P N 0 0 0 0 0 0 -
BAX 0 0 0 0 0 0 -
HEEi 0 0 0 0 0 0 -
Bt ERERIDE 0 0 0 0 0 0 -
RERAUL 0 0 0 0 0 0 -

FIE Ak
EEER[AR1505 ]+ miE(E2H50m]
A5t200AE A



202545 &

TEEKRFEAZRE
HOHEAZABRBARE -CARE -DARRIEBFE HE)

HIE A&

DOBRREMEDBA[ER1005]+ (£ADFZE RED KR X 10)
QERHMENFA[ER100m] %15

D. @D>3b5E1% HEFIE (<A (150 =5 =)

OBHE HFEE
SRR AR BHIE
ZERE aRE
FER #H BEE
E:} k-9 b E:) %z H
L% 4 0 4 4 0 4 1.0
b8 BARE 7 3 10 7 3 10 1.0
BAX 3 4 7 3 4 7 1.0
faE=3 =t 7 4 1 7 4 1 1.0
@i B BRI I8 9 6 15 9 6 15 1.0
RERIUL 5 4 9 5 4 9 1.0
OERKRE[HEIRS RIER
[#AE1150mEm BR*E
" . =& EE
i FH 5 | 5F | 85 | BE
L% 118.5 64.0 144.0 123.0
X BAE 124.0 72.0 150.0 129.0
BAX 1275 82.0 150.0 129.0
HaEu 103.0 82.0 85.0 68.0
M BRpR /D8 112.0 66.0 144.0 68.0
REREU 111.0 85.0 123.0 117.0
OCH?E HmFEE
HERMRE cH#E
ZERE BRE
FE #5 BeE
E: = £ E:) z £
1h%% 1 0 1 1 0 1 1.0
X AAs 2 1 3 2 1 3 1.0
BAX 1 1 2 1 1 2 1.0
@A 3 1 4 3 1 4 1.0
wHREL ERERIDER 2 1 3 2 1 3 1.0
RERIU 2 2 4 2 2 4 1.0
OERKRE[HEIRE RIER
[#AE8]1150HE# = (=¥
AR = = =
=& =IE
X7 112.5 112.5
X EEXT 1275 95.0
EES 127.5 112.5
i 132.0 96.0
@ BRRR/D I 132.0 107.0
RERE 132.0 107.0
ODHE HmHEERE
HER AR DHfE
ZERE L
28 a5 BEE
E = H E:) z H
1 1 0 1 1 0 1 1.0
X BAR® 4 0 4 4 0 4 1.0
BAX 4 1 5 3 1 4 1.3
i 5 1 6 5 1 6 1.0
wHRfEL ERERIDE 1 2 3 1 2 3 1.0
RERIUL 0 1 1 0 1 1 1.0
OESKE[HEIRE RIER
[#2B]1150&E# = DH%E
Eéﬁ
2 25 1
) =IE
X7 109.5 109.5
X BA® 94.0 64.0
B A 94.0 82.0
HaEu 94.0 64.0
e BEPR/ID I8 97.0 64.0
RERU 123.0 123.0

YA &

OEZE[ES1005])+ (2ADETRIEDRT X 10)
Q@EE[EA100H] %15

D. @QD>b518 SEFIE (3 (150 =5 =)

HIEAE

OEE[FER1005])+ (ZAROFETBEDIKR % 10)
QEE[ERS10055] x 1.5

D. QD> B/ REHIFEIHER (150 =)



2025F EERKFEAZAER
—fi8:EHRk ABFR-BHIE-CHIE-CHIRER[EMHEHE]-DEFE

OABE BEFERF

HERTZRE AB7E
ZERE anE -
] a8 =) R
5 xz g 5 8 B
b 8 1 9 7 1 8 1.1
BARRE 17 2 19 17 2 19 1.0
X
BAX 7 2 9 7 2 9 1.0
AR (EiE) 2 1 3 2 1 3 1.0
@ 8 9 17 8 9 17 1.0
HEREL BEERIDER 6 7 13 6 7 13 1.0
RERL 5 10 15 5 10 15 1.0
OERERER-RIER
[#a&]2004m = AB%E
FEL EZE! EER | =IER
1h# 163.0 91.0
% EEXS 156.0 79.0
EESS 154.0 64.0
BAX(E#) | 1555 81.0
LB 163.0 63.0
HEEH FRPR DI 163.0 63.0 HIE A %
REEL 178.0 63.0 EFE[ER =100 R ]+ IRE B D5 R [E R 100 ] (20055 =)

@BHE HRFERF

SERTZ BB BA%E
ZERE anE
A k== BEE
5 = H 5 = B
1h# 2 1 3 2 1 3 1.0
X BAS 7 2 9 7 2 9 10
BAX 2 3 5 2 3 5 1.0
wafEL 6 7 13 4 7 11 1.2
Bt BRER DR 4 7 11 2 7 9 1.2
IREE 4 7 1" 2 7 9 1.2
OERERE R -RIER
[#&]12004 A BH#E
B EIE] R | =IES
1h# 176.0 114.0
X BAS 161.0 72.0
BAX 161.0 87.0
HEEL 145.0 77.0
HEEL BRER /DI 181.0 77.0 FIE A %
\BEE 159.0 77.0 EFE[FR = 100R ]+ IRE B OB R [ER100:] (200 £ 52)




2025F EEEKF AFHER

OCHE BFRF

FE[ A2 721007 ]+ B (O EEFRE) 100 (200 5 6 1)

HERTZ AR (J=F
ZERE a%E
ZER 2 ) R
5 = it El = it
L% 0 1 1 0 1 1 1.0
X BAE 2 0 2 2 0 2 1.0
BAAX 3 1 4 3 1 4 1.0
@ 0 1 1 0 1 1 1.0
HE1EHL EE R 2 2 4 2 2 4 1.0
RERL 1 1 2 1 1 2 1.0
OEREREA-RIER
100 A cH#E
ZH EE] R | =xIES
1hEKk 91.0 91.0
X BAARHE 71.0 65.0
HAX 71.0 64.0
HEEL 71.0 71.0
B BRI 71.0 46.0 ¥IE R &
REFA 71.0 64.0 EZE[EL 51005 ] (10055 5)
OCHRE[EMHERE] HEEE
HERRS B CHE[EHERE]
ZERE a8E
AR £ - b
5 % it 5 3 B
L% 0 0 0 0 0 0 -
X BAS 1 0 1 1 0 1 1.0
AAX 0 1 1 0 1 1 1.0
HtEL 0 0 0 0 0 0 -
@ ERERID IR 0 0 0 0 0 0 -
RERL 1 2 3 1 2 3 1.0
OERERER -RIER
[#a&]12004E R cH#E
FER EE] RER | IR
L% - -
X BARSE 141.0 141.0
BAX 152.0 152.0
tLE - -
B ERER VR - - HE ik
REEA 151.0 143.0
ODHTE BFEEFE
HERRS B DH72
ZERE anE
8 2ok =) - R
5 = H 5 = B
1h#K 2 0 2 2 0 2 1.0
X BAAE 2 3 5 2 3 5 1.0
B A 2 3 5 2 3 5 1.0
B 1 4 5 1 4 5 10
HEEL BEERIDV IR 0 2 2 0 2 2 10
RERL 0 1 1 0 1 1 1.0
OERERER-RIER
100 M5 = DH7E
FE B3] RER | IR
L 85.0 66.0
X BAS 87.0 65.0
BHAX 89.0 65.0
HEE 77.0 29.0
&g BRERD IR 77.0 77.0 HIE A&
e 29.0 29.0 EFE[ER 10041 (10055 )




2025F ETERKF A FHER
REAZHLBTANFAARK

O iEEE
BHiE IEEI=E 3 G1=F]
ZERE wE ZERE BiEE
AR 22 R FREE
£ % H E: % B B S B B kS &t
L% 2 2 4 2 2 4 1.0 1 0 1 1 0 1 1.0
XEER BARRE 5 2 7 5 2 7 1.0 2 2 4 2 2 4 1.0
BAX 4 4 8 4 4 8 1.0 1 2 3 1 2 3 1.0
@ 1 1 2 1 1 2 1.0 0 1 1 0 1 1 1.0
HEBEUFR ERPRIDE 0 4 4 0 4 4 1.0 1 1 2 1 1 2 1.0
REEL 0 2 2 0 2 2 1.0 0 0 0 0 0 0 -
OSERE R -RIER
[#a&1300m =
4] = % a
sasm ) le HHRE lﬁgﬂ Hi2
EaL | BRER | BES | RIES
L% 241.0 1075 2735 2735
XEED BAE 229.0 113.0 162.0 139.0
BAX 235.5 87.5 156.5 139.0
@i 222.8 145.0 139.8 139.8
HEBUPE [ FBRLE 239.0 80.0 166.5 139.8 FIEHE
REREL 2330 | 1884 - - EEWBAREE)—T 12T )RV B &R 1F B [&100R] (300 =5 M)




2025 EEREKRFEAZRER

S AAZFRER
AIEAE T2 3 GI=k ]
FE FH 28RE akE ZBRE BkE
HREE kB
E: % H g -3 H -4 2 =
b 2 0 2 2 0 2 1.0 1 1 1 1.0
X BAE 0 0 0 0 0 0 - 0 0 0 -
BAX 0 0 0 0 0 0 - 0 0 0 -
HREL 0 0 0 0 0 0 - 0 0 0 -
B BRERIDIR 0 1 1 0 1 1 1.0 0 0 0 -
REREI 0 1 1 0 1 1 1.0 0 0 0 -
WA FER
AIEAE 12 3 GI=k ]
FE 2= 28RE akE ZBRE aE
BREE BEE
E: % H L] -9 H % L) z
L% 0 0 0 0 0 0 - 0 0 0 -
% BAE 0 0 0 0 0 0 - 0 0 0 -
BAX 0 0 0 0 0 0 - 0 0 0 -
BAX(E#) 0 0 0 0 0 0 - 0 0 0 -
et 1 0 1 1 0 1 1.0 0 0 0 -
HaEt
BRERIDEE 0 1 1 0 1 1 - 0 0 0 -
#H2AWAZHR
AIEAE T2 #®EaE
FE FH 28BE aE ZBE BEE
BEE BEE
E: % H L % H % L} z
L% 0 0 0 0 0 0 - 0 1 0 1.0
% =P:N-d 0 0 0 0 0 0 - 0 1 0 1.0
BAX 0 0 0 0 0 0 - 0 0 0 1.0
BAX (FiE) 0 1 1 0 1 1 1.0 1 0 1 1.0
HeEL 0 0 0 0 0 0 - 0 0 0 -
Bt
BRERIDE 0 0 0 0 0 0 - 0 0 0 -
BFEAFHR
AIEAE 12 #®EaE
i FR 2BE aE ZBE AEE
BEE BEE
5 X B £ x B = E] %
L% 0 0 0 0 0 0 - 0 1 0 1.0
X =N 0 0 0 0 0 0 - 0 0 0 -
BAX 1 0 1 1 0 1 1.0 0 1 0 1.0
HREL 2 0 2 2 0 2 1.0 0 0 0 -
HeEL BRER DR 0 0 0 0 0 0 - 1 2 1 1.0
REEAL 0 0 0 0 0 0 - 0 1 0 1.0
REBEAZHAR
MEEE EEEE
HRH =80 ZBRE aEE ZBE BEE
BEE BEE
5 % B 5 % B % E:] %
ILHBFER 0 0 0 0 - 3 1 3 1.0
TIPEN | mEmrww | 1 0 i 0 0 0 - 0 0 0 -
BAXFER 0 0 0 0 0 0 - 0 0 0 -
HEBEUFER
HRMEEEHRH | o megn | O 0 ° 0 0 0 - ‘ 0 ‘ 20
s@za D45 g1k A
sLIe) %Ek%é%ﬁ 4 0 4 2 0 2 2.0 0 1 0 2.0
XEHRRTR
(Bt | WEFER 0 0 0 B




	自己C_HP掲載_2025年度入試結果.pdf
	HP掲載_2025年度入試結果.pdf



